

Solutions Overview

Prepared For:

Meridian Community Unit School District Created on April 10, 2025

Proposal is valid for the next 30 days

Marisa Pfeiffer

Education Success Partner (586) 864-3057 marisa.pfeiffer@franklincovey.com



Meridian Community Unit School District Created on April 10, 2025 Proposal is valid for the next 30 days

Investment Summary

Total Cost	\$111,896.25
Multi-Year (Non-Cancellable) Agreement Discount	-\$5,587.68
Final Price	\$106,308.57

Investment Detail

Year	Subscription	Professional Development	Total
2025-2026 Contract Year 1	\$11,496.19	\$23,940.00	\$35,436.19
2026-2027 Contract Year 2	\$11,496.19	\$23,940.00	\$35,436.19
2027-2028 Contract Year 3	\$11,496.19	\$23,940.00	\$35,436.19



Meridian Community Unit School District Created on April 10, 2025 Proposal is valid for the next 30 days

Investment Summary

Total Cost	\$111,896.25
Multi-Year (Non-Cancellable) Agreement Discount	-\$5,587.68
Final Price	\$106,308.57

Investment Detail

Meridian Community Unit School District

2025-2026 (Contract Year 1) \$4,750.00					
Subscription	Subscription \$1,330.00				
Description	List Price	Quantity	Total Cost	Final Price	
District Partnership: Leader in Me Online District+	\$1,400.00	1	\$1,400.00	\$1,330.00	
Professional Development				\$3,420.00	
Description	List Price	Quantity	Total Cost	Final Price	
District Partnership: District Alignment Session	\$3,600.00	1	\$3,600.00	\$3,420.00	

2026-2027 (Contract Year 2) \$4,750.0					\$4,750.00
Subscription \$1,330.00					
Description	List Price	Quantity		Total Cost	Final Price
District Partnership: Leader in Me Online District+	\$1,400.00		1	\$1,400.00	\$1,330.00
Professional Development					\$3,420.00
Description	List Price	Quantity		Total Cost	Final Price
District Partnership: District Alignment Session	\$3,600.00		1	\$3,600.00	\$3,420.00

2027-2028 (Contract Year 3) \$4,750.0				
Subscription \$1,330.0				
Description	List Price	Quantity	Total Cost	Final Price
District Partnership: Leader in Me Online District+	\$1,400.00	1	\$1,400.00	\$1,330.00
Professional Development \$3,420.00				
Description	List Price	Quantity	Total Cost	Final Price



Meridian Community Unit School District Created on April 10, 2025 Proposal is valid for the next 30 days

District Partnership: District Alignment	\$3,600.00	1	\$3,600.00	\$3,420.00
Session				



Meridian Community Unit School District Created on April 10, 2025 Proposal is valid for the next 30 days

Highland Elementary

2025-2026 (Contract Year 1) \$10,057					
Subscription \$3,217.6					
Description	List Price	Quantity	Total Cost	Final Price	
Membership per Student	\$11.25	301	\$3,386.25	\$3,217.69	
Professional Development	Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price	
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00	

2026-2027 (Contract Year 2) \$10,057.6					
Subscription \$3,217.6					
Description	List Price	Quantity	Total Cost	Final Price	
Membership per Student	\$11.25	301	\$3,386.25	\$3,217.69	
Professional Development	Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price	
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00	

2027-2028 (Contract Year 3)				\$10,057.69	
Subscription \$3,217.					
Description	List Price	Quantity	Total Cost	Final Price	
Membership per Student	\$11.25	301	\$3,386.25	\$3,217.69	
Professional Development	Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price	
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00	



Meridian Community Unit School District Created on April 10, 2025 Proposal is valid for the next 30 days

Meridian Jr High School

2025-2026 (Contract Year 1) \$10					
Subscription \$3,527.7					
Description	List Price	Quantity	Total Cost	Final Price	
Membership per Student	\$11.25	330	\$3,712.50	\$3,527.70	
Professional Development	Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price	
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00	

2026-2027 (Contract Year 2) \$10,367.7					
Subscription \$3,527.7					
Description	List Price	Quantity	Total Cost	Final Price	
Membership per Student	\$11.25	330	\$3,712.50	\$3,527.70	
Professional Development	Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price	
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00	

2027-2028 (Contract Year 3)				\$10,367.70
Subscription \$3,527.70				
Description	List Price	Quantity	Total Cost	Final Price
Membership per Student	\$11.25	330	\$3,712.50	\$3,527.70
Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00



Meridian Community Unit School District Created on April 10, 2025 Proposal is valid for the next 30 days

Monroe Center School

2025-2026 (Contract Year 1)				\$10,260.80
Subscription \$3,420.80				
Description	List Price	Quantity	Total Cost	Final Price
Membership per Student	\$11.25	320	\$3,600.00	\$3,420.80
Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00

2026-2027 (Contract Year 2)				\$10,260.80
Subscription \$3,420.8				
Description	List Price	Quantity	Total Cost	Final Price
Membership per Student	\$11.25	320	\$3,600.00	\$3,420.80
Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00

2027-2028 (Contract Year 3)				\$10,260.80
Subscription \$3,420.80				
Description	List Price	Quantity	Total Cost	Final Price
Membership per Student	\$11.25	320	\$3,600.00	\$3,420.80
Professional Development \$6,840.00				
Description	List Price	Quantity	Total Cost	Final Price
Custom Coaching Daily Rate	\$3,600.00	2	\$7,200.00	\$6,840.00

